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SIMPLE IS BETTER – ISSUE -11 – CASH FLOW STATEMENT  
 

We have seen profit and loss account in Issue-8, Balance sheet in Issue-9 and Relationship between balance sheet 

and profit & loss account in Issue-10. After understanding of Profit & loss account and Balance sheet, we move 

forward to the third financial statement in the current issue that is “Cash flow statement”.  

“The cash flow statement shows how much cash comes in and goes out of the company over the quarter or the 

year.” - Investopedia 

Cash flow statement shows cash inflow and a cash outflow from the business. Income statement gets prepared 

on the basis of accrual accounting and due to accrual accounting, we check cash flow statement which shows 

actual cash inflow and outflow and help us to know the liquidity position of the company.  

Cash flow statement provide answer to the questions such as - How cash of the firm is get affected?, can the firm 

able to meet its capital expenditure by operating activities or need to select an external funding option?, payment 

of dividend from the operating business or from selling any assets or by bringing an borrowing? 

Now, before moving towards the understanding of cash flow statement, we understand accrual accounting to 

the income statement so that we can easily able to understand the importance of the cash flow statement.  

Example- 

Mr.A has open a shop which is selling a ball-pen. Price of all ball-pen are Rs.10/per ball pen and costing for those 

ball-pen are Rs.2/ per ball-pen.  

Mr.A can able to sell 300 ball-pen at the 1st month. Mr.A has sold all ball-pen on the cash basis. Let’s see the 

income statement of the Mr.A on the 1st month end. Mr.A has sold off all ball-pen on the cash basis than cash 

profit will be equal to profit at the income statement. 

Income Statement  Cash flow statement 

Revenue (300*Rs.10) 3000  Revenue (300*Rs.10) 3000 

Cost (300*Rs.2) 600  Cost (300*Rs.2) 600 

Profit (R-C) 2400  Cash Profit (R-C) 2400 

Now, on the 2nd month, Mr.A has decided to boost up revenue by providing credit to the customers. And due to 

his credit policy, he can able to sold 600 ball-pen at the 2nd month. From that 600 ball-pen, Mr.A has sold off 200 

ball-pen on the credit basis. Let’s see income statement for the 2nd month. 

Income Statement  Cash flow statement 

Revenue (600*Rs.10) 6000  Revenue (400*Rs.10) 4000 

Cost (600*Rs.2) 1200  Cost (600*Rs.2) 1200 

Profit (R-C) 4800  Cash Profit (R-C) 2800 

Here, in above example, we can able to see that while Mr.A has sold off ball-pen on the cash basis then cash 

profit and profit at income statement will be equal. But while on 2nd month, Mr.A has sold off 200 ball-pen on 

the credit basis, then actual cash comes to the Mr.A is Rs.4000 and still, Rs.2000 is pending to get from the 

customers. Thus, actual cash profit will be different from the profit we show on the income statement. Income 

statement recognized full revenue on the books but Mr.A does not get Rs.6000 on the 2nd month, actually, he 

gets Rs.4000 on the 2nd month. And Mr.A has to fulfill all his dues, expenses from those received cash. If Mr.A 

having a borrowing and he needs to pay an interest of Rs.3000 then Mr.A is not able to meet his interest expenses 

from his cash earning. He need to bring addition Rs.200 to meet his interest cost (Rs.2800 cash profit - Rs.3000 
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interest cost = -Rs.200 loss) but income statement shows profit (Rs.4800 profit - Rs.3000 interest cost = Rs.1800 

profit). This is the main reason to analyze the cash flow statement.  

Now, let’s move forward to the understanding a cash flow statement in a simple manner. 

Cash flow statement having a three-section which are 1) Cash flow from Operating Activities, 2) Cash flow from 

Investing Activities, and 3) Cash flow from Financing Activities. 

1) Cash flow from Operating Activities (CFO) 

The first section of the cash flow statement is CFO which shows that how much cash company can able to generate 

from sales of the company’s goods & services, less cash needed to manufacture goods & services. CFO indicates 

activities that are directly related to the daily core business operations. Typical operating activities include sales, 

marketing, manufacturing, technology upgrade, resource hiring etc. 

 

CFO is calculated by making a certain adjustment into the Net profit before tax. Non-cash expenses, non-core 

operational expenses are getting added back to Profit before tax and non-cash revenue, non-core operational 

revenue is get subtracted from profit before tax. As we can able to see in above example that depreciation is 

non-cash expenses, interest received, income from investment, dividend received, interest paid etc. are non-

core operational income/expenses. 

After making an above all adjustment, we need to make an adjustment for the changes in working capital. 

Company’s working capital is a core part of daily business activities and if the company cannot able to manage 

working capital in a proper way then the company will face financial problems. An increase in working capital 

requires additional cash to be tied up in operations because an increase in current assets is a net outflow. In 
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contrast, a decrease in working capital position means the firm has more cash available that can be used for 

other projects since an increase in current liabilities is a net inflow. 

If receivable decreases mean customers have paid their credit amount and due to it, cash comes to the business. 

And if receivable increases from one accounting period to the next, the amount of the increase must be deducted 

from net sales because, although the amounts represented in AR are revenue, they are not cash. 

If inventories increase Means Company has purchase more inventories, raw material and due to which cash goes 

out from the business. If inventories decreases mean company can able to convert its inventories into sales and 

due to which cash comes into the business. 

If payable increases mean company will get the short-term fund to meet its daily core operational needs and if 

payable decreases mean company has paid off their short-term dues and cash goes out from the business. 

After all, above adjustment, we can able to get cash flow from operating activities which means how much cash 

company can able to generate from the core operations. If CFO continuously comes negative means that 

company cannot able to generate cash from its core operations. So that for the survival, the company will need 

to bring additional equity capital or borrowings to the business (Except new businesses, banking, and finance 

business). 

   

Continuously increases in receivables and inventories in higher proportion compared to payable which increases 

need of higher working capital and company cannot able to meet such obligation for the longer period of times 

than company will fall under the working capital crisis kind of situation; whereas company cannot able to meet 

its daily core operations and has to bring more external funding to run daily operations. 

We need to compare a CFO with the net profit if the company is generating huge net profit but very less CFO 

then we can say that company is more focusing on boosting up net profit but not focusing on generating more 

cash. 

2) Cash flow from Investing Activities (CFI) 

The second section of the cash flow statement is Cash flow from investing activities which shows activities 

pertaining to investments that the company makes with an intention of reaping benefits at a later stage. CFI reflect 

that how much cash is spent by a company for capital expenditure such as making an investment into own 

business for expansion purpose, maintain current position, bringing new technologies etc. also this section reflect 

the cash utilize for purchasing an investment avenues such as equity shares, bonds, mutual funds, properties etc 

and getting cash from selling an investment avenues. 
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In above example, we can able to see that company has utilized cash for purchasing fixed assets, deposits, 

investment to a subsidiary company, etc and get cash from interest, dividend, a sale of fixed assets, sell off 

investments. Negative net CFI numbers show that company has utilized more cash to investing activities 

compared to cash generation from investing activities. In FY16, the company had generated more cash on the 

net basis means that company had utilized less cash into investing activities compared to cash generation from 

investing activities. 

 
While we deduct capital expenditure from the cash flow from operating activities then we will get free cash flow; 

which means that surplus cash with the company after meeting capital expenditure requires for the business. If 

company having a continuously higher capital expenditure than the company cannot able to generate huge cash 

as a free cash flow. If company having a continuously negative free cash flow than that means the company 

cannot able to meets capital expenditure requires for the business from the cash from operating activities. Such 
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business needs to bring further additional funding for continuing with the capital expenditure; which is resulted 

in increases of long-term borrowing or dilution of the equity capital. 

 

If a company does not need to utilize cash for the capital expenditure then company utilize excess cash for 

purchasing investment avenue or paying out a dividend to the shareholders or repurchase outstanding shares. 

We can see the above example that company is utilizing cash for the purchasing an investment avenue and due 

to which investment is increasing year-on-year on the balance sheet of the company. Dividend payment & 

repurchase of shares will be discussed under Cash flow from Financing Activities. 

3) Cash flow from Financing Activities (CFF) 

The third section of the cash flow statement is known as a Cash flow from Financing Activities which are pertaining 

to all financial transactions of the company such as distributing dividends, paying interest to service debt, raising 

fresh debt, issuing corporate bonds, issuing equity/preference shares, repurchase of equity/preference shares 

etc.  

 
As the name suggests, this section shows the funding options to meets the operational needs of the business.  
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Changes in cash from financing are "cash in" when capital is raised, and they're "cash out" when dividends are 

paid. Thus, if a company issues a bond to the public, the company receives cash financing; however, when interest 

is paid to bondholders, the company is reducing its cash. In above example, we can able to see that company has 

repaid its short-term loans, interest on borrowings, distributing dividends to shareholders. Negative Net cash 

flow from financing activities indicate that company is paying out more cash compare to raising cash from 

financing options. 

 

 
If there is no need for investing cash into the business then company purchase investment avenues (I.e. seen at 

CFI section) or paying out a dividend to the shareholders or repurchase outstanding shares. In above 1st example, 

we can able to see that company is paying out more cash as a dividend to the shareholders and in the 2nd example, 

we can able to see buyback of share (repurchase of shares) from the shareholders. 

Reverse to it, while the company cannot able to meet its capital expenditure from the cash generated from the 

operating activities then company requires raising additional fund either through debt or through issuing equity 

capital. As we have seen example in cash flow from investing activities section where free cash flow of the 

company is negative then company requires raising the fund to meets the investment requirements.   

Also, we can able to see that company is paying a dividend to the shareholders from borrowings; the company is 

not able to generate free cash flow which means that company is paying out a dividend to shareholders either 

from selling an investment or from additional debt. 



LUCKY IDIOT SIMPLE IS BETTER https://jimitzaveri.wordpress.com/ 

7 | P a g e  
 

 
 

After completion of the three section of cash flow statement, we can come to know about the net cash 

generation or utilization of company. This cash balance we can able to see at the asset side of the balance sheet 

as a cash balance. Here in below example, we can see that net cash outflow from the company which resulted in 

a reduction of the cash balance of the company. 

 

Cash flow statement indicates the liquidity position of the company. It shows cash in and out of the business and 

cash is one of the key element for the continuation of any business. As an investor, we have to focus on the free 

cash flow generated by the company which indicates that whether the business is strong enough for adopting 

future growth or not. But it is not always essential that negative CFO or free cash flow indicates weakness of the 

company. While any company is new to the business or need to expand its footprints then company need to 

make an additional capex to make stronger its position. We always need to make a detailed study before making 

any conclusion.  

It is similar to our life, if we spend more then what cash we are able to generate then we need to either sell any 

of our assets, investment or need to bring a debt to survive into our life. If we generate enough revenue and 

make an investment of that excess surplus then we can able to create a fortune and get a good result in form of 

dividends. 

For further detail, kindly visit - How to Read the Cash Flow Statement by Safal Niveshak 

https://www.youtube.com/watch?v=asoQreBgYS8&t=1948s
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